[bookmark: h.p270v6c9y1ld]On Point 1 - Unit 12
Name _________________

[bookmark: h.43i6wwu6o46d]I. Vocabulary: Choose the word or phrase that best completes the sentence. 

1. Ian asked his father to help him __________ an e-mail to a girl he liked from school.
a. draft  
b. function
c. evolve
d. advocate

2. After high school, the ____________ step is college. 
a. subsequent  
b. inevitable
c. domestic
d. objective

3. Cats and dogs are __________, not wild, animals.
a. domestic  
b. logical
c. inevitable
d. primary

4. French royalty used to live on large ____________.
a. drafts
b. advocates
c. functions
d. estates  

5. Detectives like Sherlock Holmes use __________ and deductive reasoning to solve mysteries.
a. subsequent
b. logic  
c. estate
d. reluctance

[bookmark: h.4xj9kaeu9jlo]


[bookmark: h.d9wbdmypcndj]
[bookmark: h.o2vb3tit7ckf]II. Critical Thinking: Match the arguments above with the correct, related objection below. 


	Arguments

6. Sleeping pills can be a quick and effective way to cure insomnia. ___

7. Changing one’s behavior and sleep environment is an effective way to cure insomnia. ___

8. Because of social media, there are more narcissists today than every before. ___

9. Giving failing students passing grades will give them the self-esteem they need to succeed in the future. ___

10. Children must be given the freedom to make their own choices and to learn for themselves. ___


	Objections

a. They also need guidance and limits to give them direction and security.

b. But that method is takes a lot of time and dedication, so many people will give up on it.

c. Perhaps there is just greater access to them today than ever before.

d. However, they pose some long-term risks, such as addiction and increased risk for cancer.

e. On the other hand, it might reinforce their lazy work habits.





III. Word Study : Choose the SYNONYM ( = ) or ANTONYM ( ↔ ) for each word.

11. Which of the following is a synonym for function?
a. willingness
b. operation  
c. correct
d. reasoning

12. Which of the following is an antonym for objective?
a. primary
b. secondary
c. emotional  
d. unemotional

13. Which of the following is a synonym for apparently?
a. subsequently
b. seemingly 
c. inevitably
d. correctly

14. Which of the following is an antonym for advocate?
a. opponent 
b. supporter
c. teacher
d. domestic

15. Which of the following is a synonym for integral?
a. unwilling
b. willing
c. unnecessary
d. necessary  

[bookmark: h.dosjmsq6k058]IV. Fill in the blanks with correct word.

	 reluctance     evolutionary     accurate     nevertheless     primary



16. John is an excellent tennis player; ___________, Sylvia was able to beat him.
17. The __________ difference between France and England is the language spoken. 
18. Nancy’s ______________ to study led to her low score on the test.  
19. Bill was the most _________ kicker, so the coach chose him to shoot the penalty kick.
20. Over millions of years, a series of small ___________ changes can produce totally different animals.
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[bookmark: h.woe7xbp18azu]V. Cloze Test 

Questions 21~25

In the 21st century, more and more people are choosing to become vegetarians; that is, they choose not to eat meat. The two _____(21)_____  reasons cited for this choice are health and conscience. The _____(22)_____ behind vegetarianism for health is that meat contains too much fat and sometimes too many harmful hormones. While true, meat also provides nutrients like protein vitamin B12 that are _____(23)_____ to human health. The reasoning behind vegetarianism for conscience is that the treatment of _____(24)_____ animals on farms is cruel and that killing animals is simply immoral. One alternative for people who may not want to give up meat but who do not _____(25)_____ cruelty is buying from organic, cruelty-free farms. These farms ensure that their animals are raise in a happy, healthy environment and are killed with quick, pain-free techniques. A final point for those opposed to killing to consider: plants are living beings too. Unfortunately, in order to survive, people must kill their food.

	21.
	a. subsequent
b. objective
c. evolutionary
d. primary 

	24.
	a. primary
b. objective
c. domestic 
d. evolutionary

	22.
	a. estate
b. logic 
c. function
d. advocate
	25.
	a. advocate 
b. draft
c. function
d. evolve

	23.
	a. domestic
b. integral  
c. inevitable
d. apparent
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